VECTOR CALCULUS AND FOURIER SERISES Subject code:16SCCMM7

UNIT IV TOPIC:FOURIER SERIES

Prepared by Mrs. A.PAPPA , Assistant Professor, Department of Mathematics, AIMAN College of Arts and Science for women,Trichy 21.

Determine the fourier expansion $f(x) = x$ where $-\pi < x < \pi$
Z Let f(x) = f x 2 odd fre
$\alpha = 1^{T}$
$= \frac{1}{\pi} \int f(x) dx$ $= \frac{1}{\pi} \int x dx \Rightarrow \frac{1}{\pi} \left[\frac{3x^2}{2} \right]_{T}^{T} \Rightarrow \frac{1}{\pi} \left[\frac{\pi^2}{2} - \left(\frac{\pi}{2} \right)_{T}^{T} \right]$
= = = = = = = = = = = = = = = = = = =
$= \frac{\pi}{\pi} \int x \cosh x dx = \frac{1}{\pi} \left[\left[\frac{x \sin nx}{n} \right]^{T} - \int \frac{x \sin nx}{n} dx \right]^{V} = \frac{x \sin nx}{n}$
$= \frac{1}{\pi} \left[\frac{\chi \sin n \chi}{n} + \frac{\cos n \chi}{n^2} \right]_{T} = \frac{1}{n^2 \pi} \left[\cos n \chi \right]_{T}^{T}$
$= \frac{1}{n^2 \pi} \left[\cos n\pi - \cos n(-\pi) \right] \Rightarrow \frac{1}{n^2 \pi} \left[\cos n\pi - \cos n\pi \right] = 0$
$b_{n} = \frac{1}{\pi} \int x \sin nx dx \qquad $
$= \frac{1}{\pi} \left[\frac{2x - (\cos nx)}{n} - \int \frac{\cos nx}{n} dx \right]$
$=\frac{1}{\pi}\left[\frac{-\chi\cos n\chi}{n}+\frac{\sin n\chi}{n^2}\right] = \frac{1}{\pi}\left[-\pi\cos n\pi-(-\pi)\cos n(-\pi)\right]$
$= -\frac{1}{n\pi} \left[\pi \cos n\pi + \pi \cos n\pi \right]$
$= -\frac{2\cos n\pi}{n} \Rightarrow -\frac{2(-1)^{n}}{n} \Rightarrow \frac{2(-1)^{n+1}}{n}$
$\therefore \chi = \sum_{n=1}^{\infty} (-1)^{n+1} \frac{2}{n} \operatorname{Sennx}$
$i: \chi = 2 \left[\frac{Sin \chi}{1} - \frac{Sin 2 \chi}{2} + \frac{Sin 3 \chi}{3} - \cdots \right].$

Scanned with CamScanner

(1) That the fourier series for the function
$$f(x) = x^2$$
 where
 $-\pi \le x \le \pi$ and deduce that
(1) $\frac{1}{1^2} + \frac{1}{2^2} + \frac{1}{3^2} + \dots = \frac{\pi^2}{12}$
(11) $\frac{1}{1^2} - \frac{1}{2^2} + \frac{1}{3^2} + \dots = \frac{\pi^2}{12}$
(11) $\frac{1}{1^2} - \frac{1}{2^2} + \frac{1}{3^2} + \dots = \frac{\pi^2}{12}$
(11) $\frac{1}{1^2} + \frac{1}{3^2} + \frac{1}{3^2} + \dots = \frac{\pi^2}{12}$
(11) $\frac{1}{1^2} + \frac{1}{3^2} + \frac{1}{3^2} + \dots = \frac{\pi^2}{12}$
(12) $\frac{1}{1^2} + \frac{1}{3^2} + \frac{1}{3^2} + \dots = \frac{\pi^2}{12}$
(13) $\frac{1}{1^2} + \frac{1}{3^2} + \frac{1}{3^2} + \dots = \frac{\pi^2}{12}$
(14) $\frac{1}{1^2} + \frac{1}{3^2} + \frac{1}{3^2} + \dots = \frac{\pi^2}{12}$
(15) $\frac{1}{1^2} + \frac{1}{3^2} + \frac{1}{3^2} + \dots = \frac{\pi^2}{12}$
(16) $\frac{1}{\pi} + \frac{1}{3} + \frac{1}{3^2} + \dots = \frac{\pi^2}{12}$
(17) $\frac{1}{1^2} + \frac{1}{3^2} + \frac{1}{3^2} + \dots = \frac{\pi^2}{12}$
(18) $\frac{1}{1^2} + \frac{1}{3^2} + \frac{1}$

$$= \frac{2}{\pi} \left[0 + \frac{2\pi}{n} \cos n\pi - 0 \right] \Rightarrow \frac{4005n\pi}{n^2} \Rightarrow \frac{1}{n^2} \left(-1 \right)^n \\ = \frac{\pi}{\pi} \int_{-\pi}^{\pi} f(x) \sin nx dx \\ \therefore f(x) = \frac{\pi}{n^2} + \frac{\infty}{n^2} \left(-1 \right)^n \cos nx \\ x = \frac{\pi}{n^2} + 4 \left[-\frac{\cos x}{n^2} + \frac{\cos 2x}{2^2} - \frac{\cos 3x}{3^2} + \cdots \right] \\ = \frac{\pi}{n^2} + 4 \left[-\frac{1}{1^2} - \frac{1}{2^2} + \cdots + \frac{1}{n^2} \right] \\ = \frac{\pi}{n^2} = 4 \left[\frac{1}{1^2} - \frac{1}{2^2} + \frac{1}{3^2} - \cdots \right] \\ = \frac{\pi}{n^2} = \frac{\pi}{n} \left[\frac{1}{1^2} - \frac{1}{2^2} + \frac{1}{3^2} - \cdots \right] \\ = \frac{\pi}{n^2} = \frac{\pi}{n^2} + 4 \left[\frac{1}{1^2} + \frac{2}{2^2} + \cdots + \frac{1}{n^2} \right] \\ = \frac{\pi}{n^2} = \frac{\pi}{n^2} + 4 \left[\frac{1}{1^2} + \frac{2}{2^2} + \cdots + \frac{1}{n^2} \right] \\ = \frac{\pi}{n^2} = \frac{\pi}{n^2} + \frac{1}{n^2} \left[\frac{1}{1^2} + \frac{1}{2^2} + \frac{1}{3^2} + \frac{1}{3^2} + \frac{1}{3^2} \right] \\ = \frac{1}{1^2} + \frac{1}{2^2} + \cdots + \frac{1}{n^2} = \frac{\pi}{n^2} - \frac{\pi}{n^2} \\ = \frac{1}{1^2} + \frac{1}{2^2} + \frac{1}{2^2} + \frac{1}{2^2} + \frac{1}{2^2} + \frac{1}{3^2} +$$

$$\int f(x) dx = \int f(-y) (-dy) = -\int f(-y) dy$$

= $\int f(-y) dy = \int f(-x) dx$
= $\int f(x) dx - (2)$
Sub O in (1)
 $\int f(x) dx = \int f(x) dx + \int f(x) dx$ (f(x) is an even f^(x))
= $2 \int f(x) dx$
 $f(x) cosnx dx = c$
 $f(x) cosnx dx = c$
Hence $a_{n=0}$
 $f(x)$ is an odd function then $f(x)$ sinnx is also
 $f(x)$ is an odd function then $f(x)$ sinnx is an even f^(x)
 $\therefore \int f(x) cosnx dx = 2 \int f(x) sin nx dx$
 $\therefore Hence b_n = \frac{2}{\pi} \int f(x) sinnx dx$
 $\therefore Hence b_n = \frac{2}{\pi} \int f(x) sinnx dx$
 $\therefore f(x) cosn x dx = 2 \int f(x) sin nx dx$
 $\therefore f(x) cosn x dx = 2 \int f(x) sin nx dx$
 $\therefore f(x) cosn x dx = 2 \int f(x) cosn x dx$
 $f(x) cosn x dx = 2 \int f(x) cosn x dx$
 $\therefore f(x) cosn x dx = 2 \int f(x) cosn x dx$
 $\therefore f(x) cosn x dx = 2 \int f(x) cosn x dx$
 $\therefore f(x) cosn x dx = 2 \int f(x) cosn x dx$
 $\therefore f(x) cosn x dx = 2 \int f(x) cosn x dx$
 $\therefore f(x) cosn x dx = 2 \int f(x) cosn x dx$
 $\therefore f(x) cosn x dx = 2 \int f(x) cosn x dx$
 $\therefore f(x) cosn x dx = 2 \int f(x) cosn x dx$
 $\therefore f(x) cosn x dx = 2 \int f(x) cosn x dx$
 $\therefore f(x) cosn x dx = 2 \int f(x) cosn x dx$
 $\therefore f(x) cosn x dx = 2 \int f(x) cosn x dx$
 $\therefore f(x) cosn x dx = 2 \int f(x) cosn x dx$
 $\therefore f(x) cosn x dx = 2 \int f(x) cosn x dx$
 $\therefore f(x) cosn x dx = 0$
 $\therefore b_n = 0$

ķ

$$\begin{aligned} \int f(x) &= x + x^{2} \left(-\pi < x < \pi \right) \quad P \cdot T \quad f(x) = \frac{\pi^{2}}{3} - 4 \left(\frac{\cos x}{1^{2}} - \frac{\cos x}{2^{2}} + \frac$$

$$O_{n} = \frac{2}{\pi} \left[2^{n} \cdot \frac{\sin nx}{n} + 2x \frac{\cos nx}{n^{n}} - 2 \frac{\sin nx}{n^{n}} \right]_{0}^{n}$$

$$= \frac{2}{\pi} \left[0 + 2\pi \frac{\cos nx}{n^{n}} - 0 \right] - \left[0 \right]_{1}^{n}$$

$$= \frac{2}{\pi} \left[x \frac{(-1)^{n}}{n^{n}} \right]_{0}^{n}$$

$$= \frac{2}{\pi} \left[x \frac{(-1)^{n}}{n^{n}} \right]_{0}^{n}$$

$$= \frac{2}{\pi} \left[x \frac{(-1)^{n}}{n^{n}} \right]_{0}^{n}$$

$$= \frac{2}{\pi} \left[\left(-x \cdot \frac{\cos nx}{n} + \frac{\sin nx}{n^{n}} \right) \right]_{0}^{n} \frac{(1 - x) - \frac{\cos nx}{n}}{(1 - x)^{n}}$$

$$= \frac{2}{\pi} \left[\left(-x \cdot \frac{\cos nx}{n} + \frac{\sin nx}{n^{n}} \right) \right]_{0}^{n} \frac{(1 - x)^{n}}{(1 - x)^{n}}$$

$$= \frac{2\pi}{\pi} \left[\left(-x \cdot \frac{\cos nx}{n} + \frac{\sin nx}{n^{n}} \right) \right]_{0}^{n} \frac{(1 - x)^{n}}{(1 - x)^{n}}$$

$$= \frac{\pi^{n}}{\pi} \left[\left(-x \cdot \frac{\cos nx}{n} + \frac{1}{2^{n}} \cos nx + \frac{2}{2^{n}} \left(\frac{(-2)(-1)^{n}}{n} \sin nx \right) \right]_{0}^{n}$$

$$= \frac{\pi^{n}}{3} + 4 \left[\frac{1}{1^{n}} \cos x + \frac{1}{2^{n}} \cos xx - \frac{1}{3} \cos x x + \cdots \right]_{0}^{n}$$

$$= \frac{\pi^{n}}{3} + 4 \left[\frac{1}{1^{n}} \cos x + \frac{1}{2^{n}} \cos xx - \frac{1}{3} \cos x x + \cdots \right]_{0}^{n}$$

$$= \frac{\pi^{n}}{3} + 4 \left[\frac{\cos x}{2^{n}} + \frac{\cos 3x}{2^{n}} - \frac{1}{2^{n}} \left[\frac{\sin x}{n} - \frac{\sin nx}{2^{n}} + \frac{\sin x}{3^{n}} \right]_{0}^{n}$$

$$f(x) = \frac{\pi^{n}}{3} + \frac{1}{2^{n}} \left[\frac{\cos x}{2^{n}} + \frac{\cos 3x}{2^{n}} - \frac{1}{2^{n}} \left[\frac{\sin x}{n} - \frac{\sin nx}{2^{n}} + \frac{\sin x}{3^{n}} \right]_{0}^{n}$$

$$\frac{f(x) = \pi^{n}}{3} + \frac{1}{2^{n}} \left[\frac{1 - 1}{n} \cos n\pi + \frac{x}{2^{n}} + \frac{2}{n} \left[\frac{1 - 1}{n} \sin nx \right]_{0}^{n}$$

$$\frac{f(x) = \pi^{n}}{3} + \frac{1}{2^{n}} \left[\frac{1 - 1}{n} \cos n\pi + \frac{x}{2^{n}} + \frac{2}{n} \left[\frac{1 - 1}{n} \sin n\pi \right]_{0}^{n}$$

$$\frac{f(x) = \pi^{n}}{3} + \frac{x}{2^{n}} + \frac{1 - 1}{n} \cos n\pi + \frac{x}{2^{n}} + \frac{2}{n} \left[\frac{1 - 1}{n} \sin n\pi \right]_{0}^{n}$$

$$\frac{f(x) = \pi^{n}}{3} + \frac{x}{2^{n}} + \frac{1 - 1}{n} \cos n\pi + \frac{x}{2^{n}} + \frac{2}{n} \left[\frac{1 - 1}{n} \sin n\pi \right]_{0}^{n}$$

$$\frac{\pi^{n}}{1 - \pi^{n}} = \frac{\pi^{n}}{3} + \frac{x}{2^{n}} + \frac{1 - 1}{n} \cos n\pi + \frac{x}{2^{n}} + \frac{2}{n} \left[\frac{1 - 1}{n} \sin n\pi \right]_{0}^{n}$$

$$\frac{\pi^{n}}{1 - \pi^{n}}} = \frac{\pi^{n}}{1 - \pi^{n}} + \frac{x}{n} = \frac{\pi^{n}}{1 - \pi^{n}}} = \frac{\pi^{n}}{1 - \pi$$

Scanned with CamScanner

Develope
$$f(x)$$
 as a funicy besides in the Interval (ii, π)
if $f(x) = \begin{bmatrix} 0 & for & -\pi < x < 0 \\ \pi & for & 0 < x < \pi \\ Hore f(x) is neither even nor odd
 $f(x) = \frac{1}{\pi} & for & 0 < x < \pi \\ f(x) = \frac{1}{\pi} & for & 0 < x < \pi \\ f_1(-x) = f_2(x) & even \\ f_1(x) = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) dx \\ f_1(x) = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \cos nx dx \\ f_1(x) = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \sin nx dx = \int_{-\pi}^{\pi} \int_{0}^{\pi} \cos nx dx \\ f_1(x) = \int_{-\pi}^{\pi} f(x) \sin nx dx = \int_{\pi}^{\pi} \int_{0}^{\pi} \cos nx dx f_1(x) \\ f_1(x) = \int_{-\pi}^{\pi} f(x) \sin nx dx = \int_{\pi}^{\pi} \int_{0}^{\pi} \cos nx dx \\ f_1(x) = \int_{\pi}^{\pi} f(x) \sin nx dx = \int_{\pi}^{\pi} \int_{0}^{\pi} \cos nx dx \\ f_1(x) = \int_{\pi}^{\pi} f(x) \sin nx dx = \int_{\pi}^{\pi} \int_{0}^{\pi} \cos nx dx \\ f_2(x) = \int_{\pi}^{\pi} f(x) \sin nx dx = \int_{\pi}^{\pi} \int_{0}^{\pi} \cos nx dx \\ f_2(x) = \int_{\pi}^{\pi} f(x) \sin nx dx = \int_{\pi}^{\pi} \int_{0}^{\pi} \cos nx dx \\ f_2(x) = \int_{\pi}^{\pi} f(x) \sin nx dx = \int_{\pi}^{\pi} \int_{0}^{\pi} \cos nx dx \\ f_2(x) = \int_{\pi}^{\pi} f(x) \sin nx dx = \int_{\pi}^{\pi} \int_{0}^{\pi} \cos nx dx \\ f_2(x) = \int_{\pi}^{\pi} f(x) \sin nx dx = \int_{\pi}^{\pi} \int_{0}^{\pi} \cos nx dx \\ f_3(x) = \int_{\pi}^{\pi} f(x) \sin nx dx = \int_{\pi}^{\pi} \int_{0}^{\pi} \cos nx dx \\ f_3(x) = \int_{\pi}^{\pi} f(x) \sin nx dx = \int_{\pi}^{\pi} \int_{\pi}^{\pi} \int_{\pi}^{\pi} \sin nx dx \\ f_3(x) = \int_{\pi}^{\pi} f(x) \sin nx dx = \int_{\pi}^{\pi} \int_{\pi}^$$

sin in the same the T is T is et as a familie series at sint

$$\begin{bmatrix} 1+2 & \sum_{n=1}^{\infty} \frac{(-n)^n}{n+1} \\ (\log nx - n \sin n) deduce that from that \begin{bmatrix} 1+2 & \sum_{n=1}^{\infty} \frac{(-n)^n}{n+1} \\ (\log nx - n) deduce that from that \begin{bmatrix} 1+2 & \sum_{n=1}^{\infty} \frac{(-n)^n}{n+1} \\ (x) & = \frac{Q}{2} + \frac{Z}{2} a_n \cos nx + \frac{Z}{2} b_n \sin nx \\ u(texe) & a_v = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) dx \Rightarrow \frac{1}{\pi} \int_{-\pi}^{\pi} e^x dx \quad \begin{bmatrix} \frac{(-e^{-e^n})^n}{2} \\ \frac{1}{\pi} (e^n) \int_{-\pi}^{\pi} \frac{1}{\pi} e^x - e^{-\pi} \\ (x) & = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \cos nx dx \Rightarrow \frac{1}{\pi} \int_{-\pi}^{\pi} e^x \cosh x dx = \frac{1}{\pi} \int_{-\pi}^{e^n} e^x \cos nx dx \\ = \frac{1}{\pi} \int_{-\pi}^{e^n} f(x) \cos nx dx \Rightarrow \frac{1}{\pi} \int_{-\pi}^{e^n} e^x \cos nx dx \\ = \frac{1}{\pi} \int_{-\pi}^{e^n} f(x) \cos nx dx \Rightarrow \frac{1}{\pi} \int_{-\pi}^{e^n} e^{-\pi} \\ (a(u)px) \\ = \frac{1}{\pi} \int_{-\pi}^{e^n} f(x) \cos nx dx \Rightarrow \frac{1}{\pi} \int_{-\pi}^{e^n} e^x \sin nx \\ \frac{1}{\pi} \int_{-\pi}^{e^n} \frac{e^x}{n+1} (\cos n\pi) - \frac{e^{-\pi}}{n+1} \\ (\cos n\pi) \\ = \frac{1}{\pi} \int_{-\pi}^{e^n} f(x) \sin n\pi \\ \frac{1}{\pi} \int_{-\pi}^{e^n} f(x) \sin n\pi \\ = \frac{1}{\pi} \int_{-\pi}^{e^n} f(x) \sin nx dx \Rightarrow \frac{1}{\pi} \int_{-\pi}^{\pi} e^x \sin nx dx \\ = \frac{1}{\pi} \int_{-\pi}^{e^n} f(x) \sin nx dx \Rightarrow \frac{1}{\pi} \int_{-\pi}^{\pi} e^x \sin nx dx \\ = \frac{1}{\pi} \int_{-\pi}^{e^n} f(x) \sin nx dx \Rightarrow \frac{1}{\pi} \int_{-\pi}^{\pi} e^x \sin nx dx \\ = \frac{1}{\pi} \int_{-\pi}^{e^n} e^x (-n \cos \pi) - \frac{e^{-x}}{n^{p+1}} (-n \cos n) \\ = \frac{1}{\pi} (\frac{-n \cos n}{n(n+1)} (e^\pi - e^\pi) \\ = \frac{1}{\pi} (\frac{-n \cos n}{n(n+1)} (e^\pi - e^\pi) \\ = \frac{1}{\pi} (\frac{-n \cos n}{n(n+1)} 2 \sin n \pi \\ = \frac{1}{\pi} (\frac{-n \cos n}{n(n+1)} 2 \sin n \pi \\ = \frac{1}{\pi} (\frac{n}{n(n+1)} \\ = \frac{1}{\pi} (\frac{n}{n(n+1)} 2 \sin n \pi \\ = \frac{1}{\pi} (\frac{n}{$$

.

Scanned with CamScanner

$$= \frac{\sinh h\pi}{\pi} \left\{ 1 + \frac{1}{2} \frac{2(-1)^{n}}{n^{2}+1} \cosh x + \frac{1}{n^{2}+1} \frac{2(-1)^{n}}{n^{2}+1} 2 \sinh x \right\}$$

$$= \frac{\sinh h\pi}{2\pi\pi} \left\{ 1 + \frac{1}{2} \frac{2(-1)^{n}}{n^{2}+1} (\cosh n x - n \sinh n x) \right\}$$

Put x=0 point q continuty
 $e^{0} = \frac{\sinh h\pi}{\pi} \left\{ 1 + 2 \frac{1}{2} \frac{(-1)^{n}}{n^{2}+1} (\cos 0 - n \sinh 0) \right\}$
 $1 = \frac{\sinh h\pi}{\pi} \left\{ 1 + 2 \frac{1}{2} \frac{(-1)^{n}}{n^{2}+1} (\cos 0 - n \sinh 0) \right\}$
 $\frac{1}{\pi} = 1 + 2 \frac{1}{2} \frac{(-1)^{n}}{n^{2}+1}$
 $= 1 + 2 \left[\frac{(-1)^{n}}{1^{2}+1} + \frac{1}{2} \frac{(-1)^{n}}{n^{2}+1} \right]$
 $= 1 + 2 \left[\frac{(-1)^{1}}{1^{2}+1} + \frac{1}{2} \frac{(-1)^{n}}{n^{2}+1} \right]$
 $= 1 + 2 \left[\frac{(-1)^{1}}{1^{2}+1} + \frac{1}{2} \frac{(-1)^{n}}{n^{2}+1} \right]$
 $= 1 + 2 \left[\frac{(-1)^{n}}{1^{2}+1} + \frac{1}{2} \frac{(-1)^{n}}{n^{2}+1} \right]$
 $= 1 + 2 \left[\frac{(-1)^{n}}{1^{2}+1} + \frac{1}{2} \frac{(-1)^{n}}{n^{2}+1} \right]$